National Fire Equipment Ltd.

A61Y005 1” Test & Drain Valve

141

1:11.5NPT,

@26

12 Orificd

71.5

1-11.5NPT

7
K0

N ] zhd

usrm w ROVED '4 -
ERZ835S
DRAIN FITTHGSPECIAL TYPE

L

/ |
B
Q2968
TEST AND DRAIN
e th =
oFF |Miio

ALlo

ARROW FOR]

SELECTED

FUNETION
OFF

1 Q2968-100-01 Body 1 C37700

2 Q2968-100-02 Cap 1 C37700

3 Q2938-100-03 Seal 2 PTFE

4 413-44.5X26X8-K5.6B Ball 1 C37700

5 Q2968-100-05 STEM 1 C37700/HPb59-1

6 0-10X1.8-NBR O-Ring 2 NBR(A70+5)

7 Q2968-100-07 Handle 1 Q235A/304

8 LM-M10X10-Q235A Nut 1 Q235A
LM-M10X10-304 Nut 1 304

9 Q2938-100-09 Gland packing 1 PTFE

10 Q2938-100-10 Gland ring 1 C37700

1 Q2968-100-11 Gland nut 1 C37700

12 Q2958-100-18 Spring 1 302/304

13 GZ-79.53 Steel Ball 1 304

14 Q2968-100-08 Indicator Plate 1 Q235A/304

15 Q2938-100-15 Plug 1 C37700

16 Q2928-100-11 Washer 2 NBR(A70+5)

17 Q2928-100-12 Sight Glass 2 LEXAN

18 Q2928-100-13 Retaining Ring 2 C37700

VANCOUVER: (604) 420-1131
Toll Free: (800)-667-2138

EDMONTON: (780) 455-3870
Toll Free: (888)-891-1008

MONCTON: (506) 859-7277
Toll Free: (877) 816-3473

. National Fire b o' g
Equipment Ltd.

OTTAWA: (613) 723-6071 BURNABY: (604)-299-449% CALGARY: (403) 236-5661 MISSISSAUGA: (905) 565-1385

www.nationalfire.com




11/4-11.5NPT

National Fire Equipment Ltd.

A61Y006 1 1/4” Test & Drain Valve

226

141
8 9 10 M 14/,,
7 u’/13
6 12
)
5 ~
s \
&
wr
ksl TS : Z
SOOI e
g =
15
21
4/3/2/1
127

=

- TLisTED “APPROVED
EX28355
DRAIN FITTING-SPECIAL TYPE

| ef: @ <
&

)

Q2968
TEST AND DRAIN )

1 Q2968-141-01 Body 1 C37700

2 Q2968-141-02 Cap 1 C37700

3 Q2938-100-03 PTFE 2 PTFE

4 413-44,5X26X8-K5,6 Ball 1 C37700

5 Q2968-100-05 Stem 1 C37700/HPb59-1

6 0-10X1.8-NBR O-Ring 2 NBR(A70+5)

7 Q2968-100-07 Handle 1 Q235A/304

8 LM-M10X10-Q235A Nut 1 Q235A
LM-M10X10-304 Nut 1 304

9 Q2938-100-09 Gland packing 1 PTFE

10 Q2938-100-10 Gland ring 1 C37700

11 Q2968-100-11 Gland nut 1 C37700

12 Q2958-100-18 Spring 1 302/304

13 GZ-29.53 Steel Ball 1 304

14 Q2968-100-14 Indicator Plate 1 Q235A/304

15 Q2938-100-15 Plug 1 C37700

16 Q2928-100-11 Washer 2 NBR(A70+5)

17 Q2928-100-12 Sight Glass 2 LEXAN

18 Q2928-100-13 Retaining Ring 2 C37700

National Fire

Equipment Ltd.

Toll Free: (800) 267-8508

TORONTO: (905) T61-6355
OTTAWA: (613) 723-6071

VANCOUVER: (604) 420-1131
Toll Free: (800)-667-2138

BURNABY: (64)-299-4498

www.nationalfire.com

EDMONTON: (780) 455-3870
Toll Free: (888)-891-1008

MONCTON: (506) 859-7277
Toll Free: (877) 816-3473

CALGARY: (403) 236-5661 MISSISSAUGA: (905) 565-1385




National Fire Equipment Ltd.

A61Y082 2” Test & Drain Valve

161

@60+0.2

1 Q2968-200B-01 Body 1 C37700

2 Q2968-200B-02 Cap 1 C37700

8 Q2938-121-03 PTFE 2 PTFE

4 413-68X40X10-K5.6 Ball 1 C37700

5) Q2938-121-05 Stem 1 C37700/HPb59-1

6 0-12.5X1.8-NBR O-Ring 2 NBR(A70+5)

7 Q2968-121-07 Handle 1 Q235A/304
LM-M12X11-Q235A Nut 1 Q235A

8 LM-M12X11-304 Nut 1 304

9 Q2938-121-09 Gland packing 1 PTFE

10 Q2938-121-10 Gland ring 1 C37700

1 Q2938-100-11 Gland nut 1 C37700

12 Q2938-100-12 Spring 1 304

13 GZ-29 Steel Ball 1 304

14 Q2968-121B-14S Indicator Plate 1 Q235A/304

15 Q2938-100-15 Plug 1 C37700

16 Q2928-100-11 Washer 2 NBR(A70+5)

17 Q2928-100-12 Sight Glass 2 LEXAN

18 Q2928-100-13 Retaining Ring 2 C37700

19 Q2938-100-19 Stop Screw 2 304

National Fire
Equipment Ltd.

TORONTO: (905) 761-6355
Toll Free: (800) 267-8508

OTTAWA: (613) 723-6071

VANCOUVER: (604) 420-1131
Toll Free: (800)-667-2138

BURNABY: (64)-299-4498

www.nationalfire.com

EDMONTON: (780) 455-3870
Toll Free: (888)-891-1008

CALGARY: (403) 236-5661

MONCTON: (506) 859-7277
Toll Free: (877) 816-3473

MISSISSAUGA: (905) 565-1385

11 u\ {_g 8 /_7
12 \
13 ° | 6
14 5
o
N |
77‘% |Fl ||II
o 8 “?
3 5 5 Y
388 et 45
g §| 2] =AL —
[ P A
‘ L
168 15 &9 / \ \ .
a/ 3f 2/ u S
— T e W ! h 8 4 s Y
169 & Sy i v | B o
Vol [ SRR TR BPECIL TP
_—Tr‘ Ay RO | ‘l I




National Fire Equipment Ltd.

A61Y082 2” Test & Drain Valve

€00

Y
0+9L oy

L50ze

Machining Tolerances
Unless Otherwise Specified
>0.5-6 +0.1
>6-30 +0.2
>30-120 +0.3
260+0.2
@57:0.15 <
o @34920.1
240£0.1
N > 9
8% =
3
OF N
165' s 5
3 .
‘I\J
> E] y
N Q [th 1%
N pd — A
5 0 S 9
8 [l &
;/ w |
s
= ®5|3+0'1 o
iN C >
2 @77.50.1
pd DIV,
3 MB80X1.5
@80.5

Z06L~

07@(5\

e 14%]

58.5+0.1

National Fire
Equipment Ltd.

TORONTO: (905) 761-6355
Toll Free: (800) 267-8508

OTTAWA: (613) 723-6071

Toll Free: (800)-667-2138

VANCOUVER: (604) 420-1131
BURNABY: (64)-299-4498

Forging Tolerances
Unless Otherwise Specified
<20 +0.3
>20-40 +0.5
>40-60 +0.6
>60-80 +1
>80-100 1.2 65
2X 18 <
S
i
& L
L ] %]
Q
> ® >
5 \Ai |
w
\o& %
o
& 1a
[«
3 '8 3 3
|
i |
Q 4540.1 }_
= 285 a_ e
@88+0.2 >
R3

268
262

08
or
~—_
]
oom
IR
3 3§ 5
NUSIIY:
O‘KN
N o
< 01 B
< Q

www.nationalfire.com

EDMONTON: (780) 455-3870
Toll Free: (888)-891-1008

CALGARY: (403) 236-5661

Toll Free: (877) 816-3473

MISSISSAUGA: (905) 565-1385

MONCTON: (506) 859-7277 ‘




	A61Y005-1121
	A61Y006 - 1121
	A61Y082-1121

